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(3)

Who is known as the father of statistics

(1) Achenwall
(2) Cowden
(3) Bowley

(4) Boddington

Which one of the following is not)a
feature of 'Plural Statistics'

(1) Collection of data for specific purpose
(2) Collection of data in.systematic manner
(3) Collection of data by,estimation

(4) Collection of data' by enumeration

Which type of facts are not considered
under the study of statistics

(1) “Related facts
(2) Aggregate of facts
(3) Qualitative facts

(4) Numerical facts

The secondary data are collected by

(1) Questionnaire
(2) Schedule
(8) Unpublished sources

(4) Correspondence

Which of the following are known as
statistical data

(1) Values of constants

P.T.O.
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(4)

(2) Values of variables
(8) Values of parameters

(4) Values of all the physical quantities

A survey in which information are
collected for each unit is called

(1) Pilot survey
(2) Unit survey
(38) Sample survey

(4) Census survey

Absolute statistical error is measured as
(1) Actual value = Estimated value
(2) Estimated value — Actual value

Actual Value - Estimated Value
Estimated Value

3)

Estimated Value - Actual Value

(4)

Actual Value

Tippet's table is used for
(1) Systematic sampling
(2) Random sampling

(3) Deliberate sampling

(4) Quota sampling

Which one of the following relationships
is not correct

(1) Range = Highest value — Lowest value

(2) Range = Number of classes x Class
interval

(3) Range = Summation of class intervals

(4) Range = Frequency x Class interval
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(5)

10.

11.

12.

13.

The statistical errors that can be reduced
in the process of data collection are

(1) Errors in data acquisition
(2) Absolute errors

(38) Sampling-bias errors

(4) Non-response errors

Loss of information occurs with

(1) Collection of data
(2) Classification of data
(8) Represeéntation ofdata

(4) Analysis.of data

In. classified data the statistical

calculation is based on

(1) Estimated values of observations
(2) Actual values of observations
(3) Average values of observations

(4) Average values of class limits
Adjusted class frequency is measured by

Interval of current class

X
lowest class frequency
interval of current class
Interval of current class
X
Highest class frequency

current class frequency

current class frequency

Interval of Interval of
X
Highest class lowest class

P.T.O.
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(6)

14.

15.

16.

17.

Highest class frequency
Interval of Interval of
X
Highest class lowest class

Which one of the following is a two-
dimensional diagram

(4)

(1) Bardiagram
(2) Line diagram
(3) Pictogram
(4) Histogram

'Stubs' and called

respectively

'Captions' <are

(1) Headings ofyx-axis and y-axis of a
diagram

(2) Headings< of y-axis and x-axis of a
diagram

(3) “Headings of Rows and columns of a
table

(4) Headings of columns and Rows of a

table

The statistical value which cannot be find
diagramatically, is

(1) Mean

(2) Median

(3) Mode

(4) Quartile

Which of the following is drawn for both
discrete and continuous data
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21.

(1) mgfr @
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(3) wreg faTers
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(1) 20 & ERTER
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(7)

18.

19.

20.

21.

(1) Frequency curve
(2) Frequency polygon
(3) Bardiagram

(4) Histogram

Ogive can not be used to find

(1) Quartiles
(2) Percentiles
(3) Mean

(4) Median

Which one of the following averages is
most affected by the external values

(1) Arithmetic mean
(2) “ Geometric mean
(8) Harmonic mean

(4) Median

Select the positional value

following

among

(1) Mean

(2) Median

(8) Mean Deviation

(4) Standard Deviation

If the 25% of total observations are less
than 20 & 25% observations are more

than 65; and remaining 50% are between
20 and 65, then the third quartile is

(1) Equalto 20

P.T.O.
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25.

(2) 20 9 FHH
(3) 65 I 3Nfr®H

(4) 65 B TR

fr=fafea & & w8 |99y &1 g

(1) Md =3Mo-2X

(2) 2Mo =3Md -X

(3) X =3Md —2Mo

(4) Mo =3Md -2X

&A1 TET0T BT SYANT BTl ©
(1) ¥ o

(2) sgeId H
(3) E-a H
(4) AT H

afs gonl @1 oiid ey 52 ®, AfFamel
B i g 42 B, qAT 9l HHAIRA!
1 ST Y 50 ®, A goNi BT e
ST BRY

(1) 48 yfaerd

(2) 50 Hferra

(3) 58 wfaerd

(4) 80 wfaerd
fr=fafea § & SF-a1 9dy 999 78 @
(1) X =Md = Mo

(2) X >Md > Mo

(3) Mo>Md>X

(4) Mo>Md <X
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(8)

22,

23.

24.

25.

(2) Lessthan 20
(3) More than 65
(4) Equalto 65

Select the correct relationship among the
following

(1) Md =3Mo-2X
(2) 2Mo =3Md -X
(3) X =3Md -2Mo

(4) Mo =3Md —2X

Density test'is used for

(1) Mean
(2) Made
(8) Correlation
(4)». Regression

If the average age of males is 52, average
age of females is 42, and average age of
all employees is 50, then find the
percentage of males

(1) 48 percent
(2) 50 percent
(8) 58 percent
(4) 80 percent

Which one of the following relationship is
not possible

(1) X =Md = Mo
(2) X >Md > Mo

(3) Mo>Md >X
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26.

27.

28.

29.

(4) Mo>Md <X

The sum of deviations will always be
zero, if the deviations are taken from

(1) Arithmetic mean
(2) Geometric mean
(8) Harmonic mean

(4) Weighted mean

Calculate average’ marks <f: students
from the following table

Marks
obtained

Less
than 10

Less
than 20

Less
than 30

Number of

5

7

8

students

(@8

(2) 10

(8 18

(4) 22

The mean of first n natural numbers will be

n(n+1)
2

(1)

n(n+1)
2n

n(n+1)
n

n(n-1)
4) “on

The graphical method of

dispersion is

studying

(1) Frequency curve

P.T.O.
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30.

31.

32.

(2) Normal curve
(8) Lorenz curve

(4) Asymetric curve

Which one of the following statements is
not correct for Standard Deviation (o)

(1) o is independent of change"of, origin
only

(2) o is independent of change of scale
only

(3) o is independént of both = change of
origin and ehange of scale

(4) o isgdependent.on both — change of
origin and'change of scale

The relative measurement of dispersion
is

(1) Standard Deviation
(2) Variance
(38) Covariance

(4) Coefficient of variation

Value of 's' for the first n natural numbers
is

(n% +1)

(1)
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37.
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33.

34.

35.

36.

37.

For open ended classes, an appropriate
measure of dispersion is

(1) Mean deviation

(2) Mode deviation

(3) Quartile deviation

(4) Standard deviation

Which one of the following is not correct
for correlation

(1) Ty =Ty

(2) -1<r&+l

3 -l<r>+1

(4) 'risunitless

The standard deviation of a set of 50
observations is 4. If each observation is
multiplied by 4, then the value of variance
will be

(1) 16
@) 64
(3) 200
(4) 256

Which is the most heterogeneous series
among the following

(1) 1,5,9,13

(2 3,6,9,12

(3) 5,7,9, 11

4) 7,8,10, 11

If mean and coefficient of variation of a
set are 20 and 4 respectively, the

P.T.O.
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38.

39.

40.

41,

standard deviation will be
(1 5
(2) 80
(3) 40

4) 2

The coefficient of correlation o'is

independent of

(1) Origin, but not of scale
(2) Scale, but not of origin
(8) Both — origin and_scale

(4) Neitherjorigin nor scale

All types “of correlations can be

measured by

(1) Scatterdiagram

(2)». Product moment correlation coefficient
(8) Rank difference correlation coefficient
correlation

(4) Concurrent deviation

coefficient

If correlation coefficient is zero, then the
variables will be

(1) Correlated
(2) Independent
(8) Dependent

(4) Spuriously correlated

Which one of the following statements is
not correct for Fisher's index number

(1) Iltis an ideal index number

(2) It is a geometric mean of Laspeyre's
and Paasche's index numbers


www.axpdf.com

42,

43.

44.

45.

(3) IT IHTIAT W& BT T BT ©

(4) TB TDHIY W Bl AT HRAl ©

GAC ITeg BT TANT Faved fear

(1) meed 3

() TRRET H

(3) WRRAT A

(4) T T

|TUel HIAT Fad Bl ©

(1) MR q9 & BrAd H wfaera gRads
(2) drel ¥ B BEd F vl uRacdd

(3) ATl I BT MR I¥ H DA B
srguTd

(4) MR IY P A a9 H DHHAT B
srgurd

GEGER] o gAITHT qonel B
7 P el GIY Bl Bifed

(1) Aeqee IO, T Suidl, Br

TOIR AT B

(2) AEHEY [OTI®, MU WIUTDh BT
TR q1eg ©

(3) \EHdY TUBN I TTET OB DBl
B AR ©

(4) HEHee IOND, TAT FAHUTHT oD

frafafeg & @ 991 T g9
gy faaror & forg wer 787 @

(1) I8 goia: 9fd gar @

Part-11/D/48

(13)

42,

43.

44,

45.

(3) It satisfies the reversal test

(4) It satisfies the circular test

The term 'Regression’ was first used by

(1) Galton
(2) Pearson
(3) Spearman

(4) Newman

Relative price refers

(1) Percentagerchange in base year price

(2) Percentage change in current year
price

(8) Ratio of current to base year price

(4)- »Ratio of base to current year price

Choose the correct relationship between
correlation coefficient and Regression
coefficients

(1) Correlation coefficient is the Geometric
mean of Regression coefficients

(2) Correlation coefficient is the Arithmetic
mean of Regression coefficients

(3) Correlation coefficient is the Harmonic
mean of Regression coefficients

(4) There is no relationship between
correlation coefficient and regression
coefficients

Which of the following is not correct for
Normal Frequency Distribution

(1) Iltis perfectly symmetric

P.T.O.
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46.

47.

48.

49.

Which statistician had commented — "The
death of a man is tragedy. The_ death (of
millions is a statistic."

(1) Henery Clay
(2) Joseph Stalin
(3) Luis Brandis

(4) Soul Bafron

The formula for consumer Price Index
Using Family Budget Method is

(1) 2PLQ1 14
2. Py.Qo

>RW
2w

3 =R 100

W

@ =Y 100

2R

.100

()

Mathematics was first used in economic
theory by

(1) Jevons
(2) Edgeworth
(8) Cournot

(4) Walras

The Quasi Rent is measured as
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50.

51.

52.

53.

(1) Total Revenue — Total Cost
(2) Total Revenue — Total Fixed Cost
(3) Total Revenue — Total Variable Cost

(4) Total Revenue — Opportunity Cost

If the prices of two goods X; and X, are
P, and P, respectively and the money
income of the consumer is M, the 'Budget
set' of the consumer will be

(1) X{.Pi+Xo.P, =M
(2) Xq1.Pp+X5.Pp <M
(B8) X1.PL+Xo.Py=M
(4) X{.PL+X5.Py2M

Which/of the following is related with
Monopoly

(1) Product differentiation
(2) »Price discrimination
(8) Selling cost

(4) Advertisement cost

Under perfect competition the
enterpreneur's power of control over the
price of the commodity is

(1) None
(2) Some
(38) Considerable

(4) Total

Under Monopolistic competition, the
enterpreneur's power of control over the
price of the commodity is

(1) None

(2) Some

P.T.O.
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54.

55.

56.

57.

58.

(3) Considerable
(4) Total

Which of the following demand curves is
not a constant elasticity curve

(1) Horizontal
(2) Vertical
(8) Linear

(4) Rectangular hyperbolic

Which of the following 4s not a 'Shift
factor' of demand

(1) Price of the commodity
(2) Prices ofiyrelated commodities
(8) Income of the,consumer

(4) Taste of the.consumer

In Cournot's model if there are three
firms in the industry, each will produce

of the market

)

W=

of the market

@)

NP

of the market

@)

of the market

(4)

o=

A linear supply curve will be unitary
elastic if it

(1) Intersects the x-axis in negative range
(2) Intersects the x-axis in positive range
(3) Intersects the y-axis in negative range
(4) Passes through origin

The shape of average selling cost curve
is


www.axpdf.com

59.

60.

61.

62.

(1) U 3rmahfa
(2) 'L'3Mpfa

(3) SffduRTeTy 3Mpic

(4) ST SATORGAY TP

SUMET §RT  STEaR
QHEMFTmﬁq?GW#aﬂaW@TﬁmT%

(1) SRR ARHA
(2) TdER SAEHN
(3) Uebfeer SrfeHAT
(4) Fgfawr sifemr

(4) e

IATE FHIEAT a6 USRIT 78 BRahe
(1) germT @1

(2) g BT

(3) AR AT Pl

(4) ST DIAIDT

TRfT B Bl Fd P Aboudr H
aftafera 7et B
(1) &= AT B AN

(2) fasmu= @1 arTa
(3) ZHaSAl Bl T ST dTell BE
(4) fIsp! Tara waret @1 ArTd

Part-11/D/48

(17)

59.

60.

61.

62.

(1) 'U'shaped

(2) 'L'shaped

(3) Hyperbolic shaped

(4) Rectangular hyperbolic shaped

A rational consumer moves to a higher
indifference curve due to

(1) Convex preference
(2) Concave preference
(3) Monotonic preference

(4) Polytonic preference

In case the decrease, in production cost
is just sufficient, to offset the rise in
marginal cost, then the long run marginal
cost curve will be

(1) 'Uhshaped
(2)»/'Inverted -U' shaped
(8) 'L'shaped

(4) Vertical

The production possibility curve does not
express

(1) Scarcity

(2) Choice

(3) Opportunity cost
(

4) Factor price

Chamberlin's concept of selling cost
does notinclude

(1) Cost of raw materials
(2) Cost of advertisement
(3) Discount to buyers

(4) Cost of after sale services

P.T.O.
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64. efemey # ‘=’ gen ‘@Al Suw l @t
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(1) W AT A
(2) W 9N |
(3) ifest 9T 9|
(4) STHT 99T 9
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BHad UG 9 AR e el ©
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63.

64.

65.

66.

Which theory is treated as ‘the third root
of the logical theory of demand’

(1) Revealed preference theory

(2) Theory of equi-marginal utility

(3) Theory of consumer's surplus

(4) Theory of diminishing marginalutility

Prefix 'micro' and 'macro' in economics
have been taken from

(1) Greek Language
(2) French Language
(3) Latin Language

(4) German Language

Which one of the following statements is
correct for microeconomics

(1) There is no limit of its use

(2) It provides ready solution for practical
problems

(3) It provides only tools and techniques for
real life problems

(4) lts limits are not because of its
assumptions
The terms 'micro' and 'macro’ in

economics were first used by

(1) Adam Smith
(2) Ragnar Frisch
(8) Gustav Cassel

(4) David Hume
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67. T AT I gAY d9 el Il & Al 67. A resource is said to be scarce if
(1) LI HFT RIS AT IAD

SECERIRCICIEEDE (1) Its demand is more than its availability
@) - e at zero price
I ALl IR IR
ST ¥ 37fere 2l (2) Its demand is more than its availability
@) ; - - at positive price
SUCEITT & RISR & (3) Its demand is equal to its availability-at
. zero price
(4) g9TH® DA TR FID! AN IHDI P
SUCTEIAT & SRI6Y & (4) lts demand is equal to_itstavailability at
positive price
68. 3Mf¥® Wge fafy &1 fawr foar 2 68. The method of partial'equilibrium‘has been
developed by
() eBE Ao (1) Alfred Marshall
@) tﬂ“l# (2) Pigou

(3) it Yo Hwgarerdd A (3) Paul A. Samuelson

(4) SREAT fpeR (4)“ Irving Fisher
69. UHIEIAR BT Rigia fasRa fear @ 69. The principle of monopoly has been
developed by
) ares mrefar (1) Alfred Marshall
@) I IR S (2) Joan Robinson
(3) . AR T A (3) J.R. Hicks
4) IRk {Pfﬂ?\’ 3 (4) Joseph Schumpeter
70. 98 Refa s sidia g8 @M @ a<g 70. A situation where some people demand a
P! AT 3 BRI BRI & P I AN commodity because other people
I HI B ©, DA B purchase it, is called
(1) d<ar wurg (1) Bandwagon effect
(2) afgra gwrg (2) Matrix effect

Part-1/D/48 (19) P.T.O.
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71.

72.

73.

74.

(3) Snob effect

(4) Veblen effect

Under perfect competition if the long run
external economics are more than external
diseconomics, then the long run supply
curve of the industry will be

(1) Horizontal
(2) Vertical
(3) Downward sloping

(4) Upwardsloping

Under monopolistic. competition, the
product group may be defined as a group
of firms, whose products have among
themselves

(1) High »price elasticity and low cross
elasticity

(2) Low price elasticity and high cross
elasticity

(3) High price elasticity and high cross
elasticity

(4) Low price elasticity and low cross

elasticity

The most important element of market is
(1) Buyer

(2) Seller

(3) Commodity

(4) Price

The cross elasticity of demand for
substitute commodities is

(1) Zero
(2) Infinite
(3) Negative
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75.

76.

77.

78.

79.

(4) gATHD

WP agell & g 7 @ € o
Bl ©

(1) I3

2) =
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(4) gATHD
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(1) SYHIFT & SRS BT
(2) HIT B A BT
(3) WHId SUAAIAT BT

(4) SUHIET & AT B

SHAT-EIR Y9 &b d8e 8. U Sd
P

(1) B H TR e |

(2) STIAH, A dleliSded Wk 9

8) BA AN b ogUd P WU H B
RIRERENIEESIU NI
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75.

76.

77.

78.

79.

(4) Positive

The cross elasticity of demand for
complementary commodities is

(1) Zero

(2) Infinite
(3) Negative
(4) Positive

If cross elasticity of demand between two
commodities is almost zero, it means

(1) Very low relationship® between both
commodities

(2) Very close relationship between both
commodities

(3) Both the \commodities are perfect
complementary

(4) Both the' commodities are perfect
substitutes

The Samuelson-Holt formula provides a
measure of

(1) Consumer's surplus

(2) Elasticity of demand

(8) Marginal utility

(4) Consumer's equilibrium

The Dorfman-Steiner theorem is related to
afirm's

(1) Market share in a long run

(2) Profit maximising level of output

(3) Total variable cost as a ratio of total
cost

(4) Optimal advertisement expenditure

Equilibrium under monopoly can occur
when the marginal cost curve of a firm is

P.T.O.
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80.

81.

82.

83.

(1) Sodr g

(2) fi=ar gan

(3) Rer

(4) o1, FRar srerar ReRr

UhIReR & Afed @1 99 f=feRaa #
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(1) AT NI T AT 3

(2) 3T IITd d=AT 3 AT
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(1) T gRT
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(4) d°R g
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I b BN MUe Af¥F T TTAIR &
ql ST FT WA B8RN

(1) 3ReR

(2) Rer
(3) fafere
(4) 3E9g

fr=fafRad qaaah & @ -1 T 98

TE &
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JTTT-31eTTT Bl &
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80.

81.

82.

83.

(1) Rising
(2) Falling
(3) Constant

(4) Rising, falling or constant

The degree of monopoly is measured as a
difference between

(1) Marginal cost and marginal revenue
(2) Average cost and average revenue
(3) Marginal cost and averagedevenue

(4) Average cost and marginal'revenue

The concept of Marginal utility was first
coined by

(1) Gassen
(2) Marshall
(3)» Walras
(4) Wieser

Under monopoly when a firm's falling
Marginal cost curve is steeper than its
Marginal Revenue curve, then firm's
equilibrium is

(1) Unstable

(2) Stable

(3) Unique

(4) Impossible

Which one of the following statements is
not correct

(1) The price elasticity of demand varies all
along a demand curve

(2) In some demand curves, elasticity
remains the same throughout their
length

(3) The demand curves having different
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(4) TH < S DEA W &I FAMR AT
bl B Al Fad b THE BIfT

anffe oy &1 3ref @
(1) A& o™
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(4) afT 91T & HHFT ard 3hls I STfSd
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84.

85.

86.

slopes may have the same elasticity at
a given price

(4) Two parallel demand curves will always
have the same elasticity at a given price

Economic profit means
(1) Pure profit

(2) Normal profit

(8) Gross profit

(4) Monetary profit

Which one of the following-Statements is
not correct

(1) If price jelasticity of demand is equal to
zero, then, an“increase in price will
resultinto an increase in total revenue

(2) If price elasticity of demand is less than
one, then an increase in price will result
into an‘increase in total revenue

(), If price elasticity of demand is equal to
one, then an increase in price will result
into an increase in total revenue

(4) If price elasticity of demand is more
than one, then an increase in price will
result into a decrease in total revenue

Which one of the following statements is
not correct

(1) If price elasticity of demand is less than
one, then a rise in price increases total
consumer expenditure

(2) If price elasticity of demand is more than
one, then a rise in price decreases total
consumer expenditure

(3) If price elasticity of demand is less than
one, then a fall in price increases total
consumer expenditure

(4) If price elasticity of demand is more
than one, then a fall in price increases
total consumer expenditure

P.T.O.
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90.

1.
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87.

88.

89.

90.

1.

The credit of presenting a difference
between 'Real rate' and Market rate' of
interest goes to

(1) Irving Fisher
(2) Bertil Ohlin
(3) Jacob Viner

(4) D. H. Robertson

The excess capacity was'regarded as
one of the most novell insights, of the
theory of

(1) Perfect competition
(2) Pure competition
(3) Maonopoly

(4)smMonopolistic competition

The Marshall-Lerner condition is related

(1) Devaluation and Balance of Trade
(2) Factor cost and producer's equilibrium
consumer's

(83) Commodity price and

equilibrium

(4) Technical progress and production
capacity of firms

The 'g-ratio' denotes the ratio of

(1) The market value of capital to its
replacement cost

(2) The quantity of production in current
period to the base period

(3) Net Profit to the working capital

(4) Total income to total cost

Lerner index is a measure of
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92.

93.

94.

(1) Relative burden of a tax on buyers and
sellers

(2) Interdependence of investment

decisions
(3) Degree of a firm's monopoly power

(4) Changes in relative prices of different
groups of commodities

A firm's learning curve shows the following
relationship between average;input cost of
production and total output overtime

(1) Declingyin averagefcost'with increase in
total output

(2) Degcline imaverage cost with decrease
in total output

(8) Increase in average cost with decrease
in total output

(4) ‘Increase in average cost with increase
in total output

Marshall has defined ‘'the supply price' of
average business ability and energy as

(1) Abnormal profit
(2) Normal profit
(3) Economic profit
(4) Pure profit

Nassau Senior's interest

focuses on

theory of

(1) Abstinence
(2) Time preference
(3) Lonable funds

(4) Marginal productivity
P.T.O.
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(1) Yoil &1 3Td
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(3) WIfCIh SMNTAl DI e
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96. Uep orfcgaven # Sured emar ¥ 8N
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(1) <ferorufes faur #
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95.

96.

or:

98.

The 'X-inefficiency' in a firm's low
production level is due to

(1) Capital deficiency
(2) Lack of technological efficiency
(3) Inefficiency of physical inputs

(4) Faults in organisational skills

As a result of an increase in ,the
production capacity in an economy, the
production possibility, curve will shift
from its place towards

(1) South-Westdirection
(2) Soauth-East direction
(8) North-West direction

(4) » North-East direction

The monetization of
measured by

economy is

) —5

4) —5

The money multiplier is denoted by
(1) Broad money
Reserve money

@) Base money
Narrow money
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(1) 50 39

(2) 100 TT
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(d) &g HR
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c,d ab
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99.

100.

101.

102.

103.

3) Broad money
Narrow money

Reserve money

(4)
Narrow money

Basel norms are related to
(1) Banks

(2) Chemical fertilisers

(3) Foreign investment
(4

) Nuclear power

The first state to implement Fiscal
Responsibility and Budget Management
Act is

(1) Guijarat

(2) Karnataka
(8) Tamil Nadu
(4) Uttarakhand

Asmper the (coinage Act, 1906, the
Government can issue coins upto the
denomination of

(1) Rs. 50
@) Rs. 100
(3) Rs. 500
(4) Rs. 1000

Arrange the following taxes in descending
order of tax revenue as per Budget 2008-09

(a)
(b)
(c)
(d)

Select the correct answer using the
codes given below

(1) c,a,d,b
(2) a,c,b,d
(3 a,cdb
(4)

Union Excise Duty
Custom Duty
Corporation Tax

Income Tax

4) c,d,a,b

Percy S. Mistry committee is related to

P.T.O.
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104.

105.

106.

107.

(1) Commodity trading norms

(2) Setting up an International Financial
Centre

(3) Expansion of service tax net

(4) Public distribution system

Currency notes are issued in India on the
basis of

Simple deposit system

(2) Minimum reserve system
Proportional reserve system
(4) Percentage deposit system

In India, the" 'Commercial Papers' are
issued'by

(1) Caommercial banks
(2) »Reserve Bank of India

(8) Companies

(4) State Governments

Which one of the following constitutes

the injection in the circular flow of
national income

(1) Household savings
(2) Government spending

(3) Expenditure on imports

(4) Payments of direct taxes

The Value Added Tax is

(1) Ad-valorem and direct tax

(2) Specific and direct tax
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(38) WATIAR T IUET P
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(1) Hcd g€ &
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(1) & 99d

2) W@ gad
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(1) mex
Fmin =T

@) I~ Fmax
Fax — T

max min

(3) Mmax — T
' = Inin
(4) rmax —r

Mmax — Mmin

ufafed Uvmel duidaia srefoaaver #
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110.

111.

(8) Ad-valorem and indirect tax

(4) Specific and indirect tax

If the inflation rate in a country is higher
than other, its foreign exchange rate will

(1) Appreciate
(2) Depreciate
(3) Devalue
(4) Revalue

In the Keynesian saving function, the
parameter is

(1) Total saving
(2) Autonemoussaving
(3) Disposable income

(@) “Marginalipropensity to save

If 'r'is the market rate of interest, then the
speculative demand for money will be
r -r
(1) - —
Mmin =T
r—r,
2 max
@ r -

max min
Mmax — T
@ ———
' = Inin
rmax -r
4) ———
Mmax — "min

Under the classical system the following
type of unemployment can exist in the
economy

(1) Disguised unemployment
(2) Structural unemployment
(8) Frictional unemployment

(4) Open unemployment

P.T.O.
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112.

113.

114.

115.

116.

The modern money is not

(1) Fiat money

(2) Fiduciary money
(3) Full bodied money
(4) Token money

As per the Reserve Bank of India Act,
1934, the RBI is authorised to_issue
currency notes of denomination upto

(1) Rs. 1000
(2) Rs. 2000
(3) Rs. 5000

(4) Rs{10000

The 'Twin Deficit' means

(1) Current account deficit and capital
account deficit

(2) Budget deficit and Trade deficit
(3) Revenue deficit and Primary deficit

(4) Revenue deficit and Monetised deficit

'Ricardian Equivalence' is related with

(1) Low deficit, more saving
(2) Low deficit, less saving
(3) High deficit, more saving

(4) High deficit, less saving

‘Dollar' is not the national currency of

(1) Australia

(2) Canada
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119:
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(3) Hong Kong

(4) Sweden

India's foreign exchange rate system is

Fixed
(2) Fixed target of band
(3) Free float

(4) Managed float

Which of the followingitems of
expenditure is not regarded as Transfer
Payment

(1)
(2) Subsidy
(3)

(4) Pension

Insurance claims

Dividend

The committee on Fuller capital Account
Convertibility has recommended a time
frame of

(1) 2years
(2) 3years
(8) 4 years

(4) 5years

The assertion that the current account
deficits are not dangerous so long as
they are not caused by public sector
deficit, is named as

Galbraith Doctrine
Greenspan Doctrine
Lawson Doctrine

Tobin Doctrine

P.T.O.
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(1) faceh ga1 &
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(1) $ 100 faferm=
(2) $ 200 faferm=
(3) $ 300 faferm=
(4) $ 400 faferm=
123. YA g & AKEell H =l QT
P qiia frAfaRaa @1 wfafeaa fear
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(1) ®acl I¥G3l @ i e &
(2) T3 AT HATAT & e DI
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122.

123.

124.

125.

Tobin tax is related to

Foreign exchange
Pollution
Earned income

Gifts and donations

At the end March 2008, India's foreign
exchange reserves were approximately

(1)
@)
@)
(4)

In the balance of payment terminology,
the term 'Current Account' covers

$ 100 Billion
$ 200 Billion
$ 300 Billion

$ 400 Billion

(1)

Transactions in commodities only

(2) “TPransactions in commodities and
services
(38) Transactions in commodities and

capital

Transactions in commodities, services
and capital

In the budget of the Government of India,
the term Primary Deficit means

(1) Revenue Revenue

Receipts

expenditure —

()

Total expenditure — Borrowings from
various sources

)

Fiscal deficit — Interest payments

(4)

Revenue deficit — Interest payments

The medium term objective of the Fiscal
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127.
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129.

afif |, 2003 &1 TR Se¥d
ST °TS P HH HRP AT ST &

(1) GDP &7 3%
(2) GDP &7 2%
(3) GDP &I 1%

(4) GDP &I 0%

P BN P golc 2008-09 # frd oy
@ Il B AHR W B & T 7

(1) 99 9 TR

(2) IRETS

(3) TSI U

(4) Tfeps

YRd # e Ioic & Yol Bg WWHR
P frd af & Joic d URY B T

(1) 2004-05

(2) 2005-06

3)
(4) 2007-08

2006-07

YR P DL golc § F=faRgaydal &
A HIH-91 I BT G949 g7 96 2

(1) ST g

(2) IR-ATSHT =

(3) oG Y

(4) Yot =

YR # fFr=fafeg 4 9 f&a ‘e &
P ®Y § ST ST ®

(1) ar B

2) A PR

(3) SUER TR
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Responsibility and Budget Management
Act, 2003 is to bring down the Revenue
deficit

(1) 3% of GDP
(2) 2% of GDP
(3) 1% of GDP

(4) 0% of GDP

In the Union Budget 2008-09, the
exemption from income tax has heen
given to the people of

(1) Jammu and Kashmir
(2) Jharkhand

(8) Arunachal,Pradesh
(4)._ Sikkim

The system of Gender Budget was
introduced in India in the Union Budget of

(1) 2004-05
(2) 2005-06
(3) 2006-07
(4) 2007-08

Which of the following is the biggest item
of expenditure in the Union Budget of India

(1) Plan expenditure
(2) Non-Plan expenditure
(3) Revenue expenditure

(4) Capital expenditure

Which of the following is known as paper
Tax in India

(1) Service tax
(2) Income tax

(3) Gift tax

P.T.O.
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(4) fome @

MRy o9 =T 7 59 geR @)
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fear @

(1) 3G RIS P

(2) GYUTHE SRISTTRT Bl
(3) el SRIGFTRI Bl
(4) HrEH RISERY BT

5 9rflel &) &1 uRyia  fear
ST ®

(1) B DRI Y B T Bl Fel
iR Mg o S @ gl g

2) HBA HAADI BT B STAEEAT D fCTId
EIN

(3) HA Afden sHDI BT FA o HAHDI
& Ufderd gRT

(4) FA IqTA HADI DI A TID HAADI
@ Tfcrerd grT

feg 2o ¥ fAwg &1 uBsal He T
zerfua fear ™ o

(1) foea

(2) MR®T
(3) wred

(4) Racorers

fr=fafea & W@er §9g 31 g

(1) 9NTR &IHAT 8 GDP = AEH dFTd W)
GDP + Afed@] ~ 3UeT B

IR HET IR GDP = 9EF ofd IR
GDP — Iafsqs! — el o)

()

ISR DT IR GDP = | oNTd R
GDP — HfeqSl + Jucder aHv

@)

IR HFT IR GDP = 9EF ofTd IR
GDP + Afeds! + el dY

(4)
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(4) Corporation tax

Which type of unemployment was termed
as 'Marxian Unemployment' by Mrs. Joan
Robinson

(1) Disguised unemployment
(2) Frictional unemployment
(3) Open unemployment

(4) Seasonal unemployment

The work Participation Rate is defined as
the percentage of

(1) Total working/age population to total
dependent.age population

(2) Total workers to total population

Total female workers to total male
workers

(8)

(4) “Total child workers to total adult

workers

In which country world's first central
bank was established

(1) Britain
America
(3) Sweden

Switzerland

Select the correct relationship
(1) GDP at market price = GDP at factor
cost + Subsidy — Indirect taxes

(2) GDP at market price = GDP at factor
cost — Subsidy — Indirect taxes

(3) GDP at market price = GDP at factor
cost — Subsidy + Indirect taxes

(4) GDP at market price = GDP at factor
cost + Subsidy + Indirect taxes
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In distribution of the net proceeds of Union
Tax Revenue among States, the Twelth
Finance Commission has assigned highest
weightage to the parameter of

(1) Per capita Income
(2) Population
Fiscal Discipline

(4)

Geographical Area

The Prime Lending Rate of a commercial
bank is decided by

(1) The Reserve Bank of India

(2) The Commercial Bank itself

(8) Ministry of Finance

(4) ThedParliament

The,terms 'NEER' and 'REER' are related
to

(1), Environmental regulation
(2) Foreign exchange rate

(3) Women's education level and

reproduction rate

(4) External economic resources

To control inflation, the Reserve Bank of
India should adopt following measures

(1) Decrease in CRR alongwith buying of
securities under  open market

operations

Decrease in CRR alongwith selling of
securities

(3) Increase in CRR alongwith buying of
securities

(4) Increase in CRR alongwith selling of
securities

P.T.O.
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In India the weekly data of wholesale Price
Index are published by the Ministry of

Agriculture
Finance

Statistics and

Implementation

programime

Commerce and Industry

Which tax has beenvintroduced for the
first time in the Union Budget 2008-09

Banking<ash transaction tax

Securities transaction tax

Commodities transaction tax

Dividend distribution tax

Okun's
between

law shows the relationship

Unemployment and inflation
Output and inflation
Unemployment and output

Investment and output

The term 'natural rate of unemployment'
was coined and used by

(1) J. M. Keynes
@)
3)
(4)

Milton Friedman
A. W. Phillips

Edmund Phelps
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Against the classical postulate of full
employment equilibrium of economy in
the long run, the concepts of ‘aggregate
demand' and ‘aggregate supply' were
first used by

(1) J. M. Keynes
)
(3) Alfred Marshall
(4)

T. R. Malthus

A. P. Lerner

Phillips curve shows ' a
between

(1)
@)
3)
(4)

relationship

Inflationyand output
Inflation andiunemployment
Inflation and interest rate

Inflation and investment

If_ the national income increases by 5
times of additional investment in the
economy, then the value of MPC will be

(1) 0.20
(2) 0.50
(3) 0.75

(4) 0.80

The outcome Budget is a
(1)

(2) Post outlay instrument

Pre outlay instrument

3)
(4)

The relationship between MPC and
Multiplier is

(1)
(2) Negative

Pre expenditure instrument

Post expenditure instrument

Inverse

P.T.O.


www.axpdf.com

147.

148.

149.

150.

(2) FUTHD
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yfew # nffe gurRl @t goed
foa af g8

(1) 1985

(2) 1988

(3) 1995

(4) 1998

TRATRA IoAT & Sfaid e
Afearenl @ fged S Tde A8 B
fr=ifafaa fafsr &1 @1 Sl &

(1) ueell fafer

(2) odi fafer

(3) 15dT fafy

(4) 2247 fafer

RISUG & Fig-3af¥d s~oigerd Asferg
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(2) RrepgTar |
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(4) gRar«
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(3) Direct

(4) Proportional

In Chinese context the axiom of 'Great
leap forward' is related with

(1) Agricultural diversification
(2) Rapid industrialisation

(3) Special Economic Zones
(4) One child norm

The economic reforms weére initiated in
Pakistan in the year

(1) 1985
(2) 1988
(3) 1995
(4) 1998
Under 'Vandemataram' scheme, free

health check-up of pregnant women is
done every month of

(1) 1stday
(2) 9th day
(3) 15th day

(4) 22nd day

Newly invented injection called RISUG is
related to

(1) AIDS
(2) Chikungunya
(3) Contraception

(4) Wrinkles
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@)
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The labourers engaged in
activities are called

(1) Red Collar

primary

Green Collar
(3) Golden Collar
(4) Blue Collar

Which of the following is the biggest
source of livelihood in India

(1)
()
@)
(4)

Casual work
Ad-hoe work
Self-employed weork

Regulansalaried work

Which ofithefollowing is not a source of
human capital

(1)mmEducation
(2) Information

(3)" Management

(4)

Insurance

As per National Common Minimum
Programme, the targeted expenditure on
Health and Education sectors are

(1) 3% of GDP on health & 6% of GDP on
education

(2) 6% of GDP on health & 3% of GDP on
education

(3) 3% of GDP on health & 3% of GDP on
education

(4) 6% of GDP on health & 6% of GDP on
education

P.T.O.
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(1) 2 fag
(2) 3ufaee fig
(3) 4vfrera fag
(4) 5 fea fig
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The Eleventh five year plan targets to
increase forest and tree cover by

(1) 2 percentage points
(2) 3 percentage points
(3) 4 percentage points
(4) 5 percentage points

Which of the following has the highest
contribution in Gross Domestic Saving in
India

(1) Household sector
(2) Private corporate sector
(8) Public sector enterprises

(4) Government

Which district has recorded lowest child
age sex ratio as per census 2001

(1) Patiala
(2) Kurukshetra
(8) Gurdaspur

(4) Fatehgarh Sahib

How many National Family Health
Surveys have been conducted so far in
India

(1) 2
(2) 3
(3) 4
4) 5
Which of the following states has the

largest number of industrial backward
districts
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(1) Uttar Pradesh
(2) Madhya Pradesh
(3) Rajasthan

(4) Bihar

The 'ABC Index' announced by the
Government of India is related to

(1) Agriculture

(2) Health

(3) Communication
(4) Transportation

The 'Education.cess’©on central taxes has
been introduced on the.fecommendation
of

(1) Vijay Kelkar Committee

(2) Tapas Majumdar Committee

(3) »N. Govind Rao Committee

(4) S.P.Gupta Committee

Since initiation of economic reforms in

India, the poverty ratios in urban and rural
areas have changed as under

(1) Decline in both urban and rural areas

(2) Decline in urban and increase in rural
areas

(3) Increase in both urban and rural areas

(4) Increase in urban and decline in rural
areas

What is the chronological sequence in
which the following four steps of foreign

exchange liberalisation were taken

during 1990s

(a) Liberalised exchange rate
P.T.O.
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(a) SeRIpa A <R gee= yomel
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(c) ia: Taepa ok feiRa fafma
T UUTTelT

d faffma w® d fg-wxo gourediRe
FHTAST

WEl SR A1 A T FHel I gEEET 9

&
(1) b,a,d, c
(2) a,b,c,d
(3) a,c,d b
(4) d,a,c,b
164. ‘fAde-g faer vt &1 yo¥ gRYNT St
YA e gRT P, S/
frfafaa Rad < forar mar 2
(1) ssois Raré
(2) Terser Rare
(38) TR Ruré
(4) faferrras Raré
165. Foricd UgiaReig 9% fAefaied &
A B A P FaT BN
(1) YAERUI & qIT DiY, Scq1a
(2) YITaRONT el T Sita Teare
(3) YATIRONT &7 @I Yo+ ax
(4) TATRONY et qor ufa fdd ey
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TRl o gaifte e frefaiea TS
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164.

165.

166.

management system
(b)
(c)

Current account convertibility

Fully unified market determined
exchange rate system

(d)

Two stage realistic adjustment in
exchange rate

Select the correct answer using sthe
codes given below

Codes :

(1) b,a,d,c
(2) a,b,c,d
(3) a,c,d,b

(4) d,a,cqyb

The first UNrapproved definition of the
term “‘Sustainable Development' was
taken from

(1) Brundtland Report
(2) Galbraith Report

@)
(4) Williamson Report

Hoover Report

Kuznets' Environmental curve shows a
relationship between

(1) Environmental and

Agricultural output

degradation

(2) Environmental
Expectancy

degradation and Life

(3) Environmental degradation and Fertility
rate

(4) Environmental
capita income

degradation and Per

At present the largest number of self
Help Groups linked to bank credit are
located in the state of
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170.

(1) 37T g<er
(2) T U<
(3) HERTY

(4) dferTg

IRA ¥ e far @1 ke 9 7
(1) *R. €. 37,

(2) TS, 9. 37E.

(3) U TH. 9.

(4) TS

yRam  falfg-emaa 9@
YT fod 9 & &1 R oft

(1) 1972

(Exim) @I

(2) 1982
(3) 1992
(4) 2002

foa fag 4= 7 U goic wYor § YRd
4 goll @ @ gRecEar AN W
frarR & & g a9 faar o

(1) wTHE Rig

(2) . faemRA

(3) T =T

(4) I R

REdl Ygadiy, AeA afr ® RN
faga Scure@! afdRed emar wenfig
P BT e fhaer &

(1) ST 40,000 HTATE
(2) T 60,000 HITETE
(3) ST 80,000 HTATE
(4) ST 1,00,000 HITETE
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(1) Andhra Pradesh
(2) Madhya Pradesh
(3) Maharashtra

(4) Tamil Nadu

The apex bank of 'Micro Finance' in India is
(1) RBI

(2) sBI

(3) NHB

(4) NABARD

The Export:lmport Bank of India (Exim)
was established in the year

(1) 1972
@) 1982
8) 1992
(45,2002

Which Finance Minister proposed to
consider the adoption of capital Account
Convertibility in India in his Budget
speech

(1) Manmohan Singh
(2) P.Chidambaram
(3) Yashwant Sinha

(4) Jaswant Singh

What is the target of setting additional
electricity generation capacity during the
Eleventh five year plan period

(1) Approximately 40,000 MW
(2) Approximately 60,000 MW
(8) Approximately 80,000 MW
(4) Approximately 1,00,000 MW

P.T.O.
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URA # Holl SIed @ g <eIfia
AT H AN H URATY] Sl BT A B
(1) 1 9z

(2) 39feer

(3) 5 Hfeea

(4) 7 9ferera

fag IR HTeT B IS Y=< YOIl
P Iaita |9f) SaEel @ v wa B8N
Il U< ARBRI BT afey &

(1) 1oa¥
(2) 1599
(3) 20a¥
(4) 2598

favg difge FueT HeT &I U gavel

% fag 9c Sreear =g fu-ew
HATIT T ®

(1) 26 BRI BT
26 VT Bl

(3) 26 Jallg Bl

26 IR Pl

frrafaRag 4 @ YR & f&E dea
7 Ry 7 <X waf=a ©

(1) e
(2) AT
(3) ~ure
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In India's total installed power generation
capacity, the share of Nuclear power is

(1)
@)
3)
(4)

1 percent
3 percent
5 percent

7 percent

Under the product patent system of, the
World Trade Organisation, the patent rights
for all products are applicable,for a period
of

(1) 10years
()
(8) 20 years

15 years

(4) 25years

The World Intellectual Property
Organisation's patent regime is observed
as 'WIPO-day' on

(1) 26 February
@)
(3) 26 July
(4)

Which of the following neighbouring
countries of India has the highest Infant
Mortality Rate

26 April

26 October

(1) Bhutan

(2) Bangladesh
(3) Nepal

(4) Pakistan

As per Economic Survey 2007-08, the
current level of Crude Birth Rate in India is
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176.

177.

178.

(1) 205
2) 235
(3) 26.5
(4) 295
g H fHar agell &1 SWIRT d@Y
g3 gr1 faffmfor =g e w9 <
(1) 35

@) 55

@) 95

faceft =R AT 2008-09 & TR T
2008-09  WRT PT fAald <ed &

(1) $ 150 faferm=
(2) $ 200 fafera=
(3) $ 250 fafera=

(4) $ 300 fafer=

YRAT AT fdhig, BT BT Ford
s orfim fosar Ty @

(1) P #=nera

(2) UTHOT faBr HATET
(3) R, 9. 3T,

(4) TETS
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176.

177.

178.

(1) 205
(2) 235
(3) 26.5

(4) 295

How many items are exclusively reserved
for manufacture by the small sector at
present

(1) 35
@) 55
(3) 75

@) 95

As per Foreign Trade Policy 2008-09,
India's target of exports for the year
2008-09 is

(1) $ 150 billion
(2) $ 200 billion
(3) $ 250 billion
(4) $ 300 billion

The Rural Infrastructure Development
Fund (RIDF) has been created under

(1) Ministry of Agriculture
(2) Ministry of Rural development
(3) RBI

(4) NABARD

P.T.O.
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179.

180.

181.

182.

IE AEEIRG MY sgdu™ uRug
(NCAER) ¥ ‘#=99 @if @ uR¥umar o
IRARI & ®Y § B & Rear aiife sma
frrafafaa et # &t

(1) $o 2R | To 5 AG

(2) o 2RI | To 10 G

(3) To 4 ARG | To 8 ARG

(4) Jo 5ART | Bo 10 ARG

Jo Yo Tlo Hlo FHI ewyar fefaar w9 4
e & /e @ forg frafalied @
ST YART 781 fHar orar 2

(1) AR & g

() Frfecaaial @1 srquRefd H g
ST H

(3) fReR g wfgemy
(4) IRISFR fdd

R ¥ fefFar Y@ @ " B STaEsn
31 ufoera few > § waifse. @

(1) IIRETS
(2) SSrm

(3) BIINIG

(4) f&R

TGl YTa¥tg groAr eEafr ¥ GDP H
e wgfg @ Swoad ) fafafRead
fa<ig o & ura @1 T

(1) 2003-04

(2) 2004-05

Part-11/D/48

(46)

179.

180.

181.

182.

The National Council of Applied
Economic Research (NCAER) has
defined the 'Middle Class' as households
having annual earnings between

(1) Rs. 2 lakh to Rs. 5 lakh
(2) Rs.2lakhto Rs. 10 lakh
(3) Rs. 4 lakh to Rs. 8 lakh

(4) Rs. 5 lakhto Rs. 10 lakh

The Capability Poyerty Measure of UNDP
does not include'following indicator for
measure of poverty

(1) Underweight children

(2) “Unattended births

llliterate adult females

®)

(4)

Unemployed person

The percentage of population falling below
the poverty line in India is highest in the
state of

(1) Jharkhand
(2) Orissa
(3) Chattisgarh

(4) Bihar

The highest annual GDP growth rate
during tenth five year plan was recorded
in the financial year

(1) 2003-04

(2) 2004-05
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183.

184.

185.

186.

187.

(3) 2005-06
(4) 2006-07

a9 2020 9 fIv9 IR ¥ YR ENT
JUAT 3T geThR frAfaRad wWR d&

Uga™ BT @6 ©
(1) 3ufea

5 gfererd
7 vfererd
9 wferera

fieg a1 9 wded URwe & IgER
2007 § 9RA 3 ot faesh wdew!
T off SR

CL
E3l

(1) 25
(2) 50 g
(3) 75

(4) 100 oI

(4) T IR A

I9¥ 2007-08 ¥ YRA H YT BIF dTel UcgeT
faeef faer &1 |ram off o
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183.

184.

185.

186.

187.

(3) 2005-06

(4) 2006-07

India targets to increase its share in
world trade by the year 2020 to

(1) 3 percent
(2) 5 percent
(3) 7 percent

(4) 9 percent

As per World /(Travel .and Tourism
Council, the,number of foreign tourists
came to India in 2007, was approximately

(1) 25 i@kh
(2)._ 50 Lakh
(B) 75Lkakh

(4) %100 Lakh

in the World Bank's annual report 'Doing
Business 2008' which included 178
countries, India ranked

(1) 100th

2)
(3) 120th

110th

(4) 130th

The word 'Globalisation' was first used by

(1) Ben Bernake
(2) Jeffrey Peek
(8) Theodore Levitt

(4) Steve Ballmer

In the year 2007-08, India received
foreign direct investment of
P.T.O.
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188.

189.

190.

191.

(1) $ 25 fafera=
2) $ 50 fafera=
(3) $ 75 fafera=
(4) $ 100 fafera=

TwRa @ fea @ A Ry g w®
feras ©

(1) T
(2) I
(3) AR
(4) ANTvS

e WA AAER  SUAR
GEIEC I

(1) FBITH

(2) uiferr |

(3) &I I A

(4) FRAT |

(DOTS)

IR fEfor v gHa-ag Ior

(1) &g fid v & forg

(2) = &= B forw

@) T &t @ e

(4) "o <o @ fom

ARG # NPK (SgioFE, BRBAN,
deref) e SRel D TN @ T
gifod U ©

1) 1:2:4

2 4:2:1

3 2:4:1
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191.

approximately

(1) $ 25 Billion
(2) $ 50 Billion
(3) $ 75 Billion

(4) $ 100 Billion

Which state in India has the loweést infant
Mortality Rate

(1) Goa

(2) Kerala

(8) Manipur

(4) Nagaland

Directly Observed Treatment shortcourse
(DOTS) is related to

(1) Leprosy

(2) . Polio

(8) Tuberculosis

(4) Malaria

‘Bharat Nirman' is a time-bound plan for

(1) Union territories

(2) Urban areas

(3) Rural areas

(4) Entire country

The desirable proportion of chemical

fertilizer NPK (Nitrogenous, Phosphatic,
Potassic) use in India is

(1) 1:2:4
2 4:2:1

3) 2:4:1
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193.

194.

195.

196.

4) 1:4:2

PIIAT IAMEMRT ‘IeeT FM YraR. Aolge”
@1 faea SauTe emar &

2000 ¥ITETE AT AfdIDH

4000 FITETE AT AfIDH

6000 ¥TTATE AT 3Afddh

8000 ¥ITATE AT 3Afddh

IOIc 2008-09 & AR HAfeamsll & fog
AT AFB B BT AT ©

(1)
2)
3)
(4)

Fo 1,50,000
To 1,80,000
To 2,00,000
B0 2,25.000
frfaRad waent ¥ 9 feaer IheE

YR ¥ A AN $ SAIeT H AP
g

(1) R
2) o
(3) HIDT
(4) <t
foa gormeE A feaefy @y o — s
%ﬁllfﬁﬁﬁmaﬂ'wg‘,%ﬁ?ﬁ

(1) SRR el e

(2) ofTcl FB8IgR il
(3) sfva=T TN
(4) XToire e

Wenfrd =9 Sy AT (TUFS) &7
ey '
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192.

193.

194.

195.

196.

4) 1:4:2

Coal based 'Ultra Mega Power Projects’
have production capacity of

(1) 2000 MW or above
(2) 4000 MW or above
(3) 6000 MW or above
(4) 8000 MW or above

As per Budget 2008-09, personal income
tax exemption limit for women is

(1) Rs. 1,50,000
(2) Rs. 1,80,000
(3) Rs. 2,00,000
(4) Rs.2,25,000
Which of the following crops has the

maximum contribution in total
production of coarse cereals in India

(1) Jowar
Bajra
(3) Maize
Barley
Which Prime Minister had remarked -

“"Everything else can wait, but not
agriculture.”

(1) Jawaharlal Nehru
(2) Lal Bahadur Shastri
(3) Indira Gandhi

(4) Rajiv Gandhi

The Technological Upgradation Fund
Scheme (TUFS) is related to

P.T.O.
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197.

198.

199.

200.

(1) IR &5 9
(2) WTET YD & |
(3) wfad &5 |
(4) PUST & W

fea sienfie N & YRa &1 afdfe
e ST |7 ST @

(1) oNenfire Nfa, 1948

(2) Sirenfires i, 1956

(3) ienfre ifa, 1977

(4) Menfire Nfa, 1991

Sfo THElET R g1 fRar w9
(1) T & |

(@) YIfaROT |

(3) wIfdd e 4

(4) AR T 9= |

qed, @Y dAT WEPH [UHH  fIHr9
™, 2006 & 3R JeA AL, SEHI
7 Rer goft # frawr @1 fFuiRa dEr e
(1) %o 5@ TP

(2) %o 10 ANF Th

(3) To 20 NE GF

(4) To 25 ANENTS
fr=faRea aaael 4 9§ SH-91 & |8l
LI

(1) o afear axgy e axge &l &
@) I frea sy afear ex
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198.

199.

200.

(1) Communication sector
(2) Food processing sector
(3) Power sector

(4) Textiles sector

Which Industrial Policy is regarded as
the Economic Constitution of India

(1) Industrial Policy, 1948
(2) Industrial Policy, 1956
(3) Industrial Policy, 1977,

(4) Industrial Policy; 1991

The call for a 'Newg/Deal' given by
Dr. Manmohan Singhiis related to

(1) Rural sector
(2) Environment
(3) »Power sector

(4) Women and children

As per Micro, Small and Medium
Enterprises Development Act, 2006, the
investment limit in fixed capital in Micro
Service Enterprises is

(1) UptoRs.5Lakh
(2) UptoRs. 10 Lakh
(3) UptoRs. 20 Lakh

(4) UptoRs. 25 Lakh

Which of the following statements is not
correct

(1) All inferior goods are Giffen goods

(2) All Giffen goods are inferior goods
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(3) M= gyl & forw mfcRermus uwmE (3) Substitution effect is negative for Giffen
FOMHE BT & goods

(4) "fear awgel & fog oM wvE (4) Income effect is negative for inferior
FOMHS AT & goods

Part-11/D/48 (51) P.T.O.
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